Trigonometry — Joysheet 6 Name: S;W( Oeze,
MAT 145, Spring 2017 — D. Ivans3ié Covers: 8.1, 8.2 Show all your work!

1. (4pts) Solve the triangle: c=4, C =37, b= 8.
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2. fl‘igtS} Solve the triangle: b =9, ¢ = 11, B = 53°
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3. (9pts) Solve the triangle: a=5,c=2, B =111°
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4. (10pts) Observing a building, you find that the angle of elevation to its top is 41°. Then
you move toward the building 100 feet and get an angle of elevation of 66° to the top of the
building. How tall is the building? (Draw a picture.)
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5. (14pts) Naval rescue base B is located 35 kilometers N68°E from naval rescue base 4. A
ship in distress has position S72°E of base A and is 26 kilometers from base B. This allows
for two possibilities for the ship’s position (draw the picture). Assuming the position that is
closer to base A, how far is the ship from base A?
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6. (9pts) A triangular plot of land with side lengths 101, 153 and 190 meters is being
considered for purchase. What is its area?
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